Note that the questions below were taken from the old textbook for ECON 202.


FINAL EXAM. Spring – 2000

Question 1.

Mr. J’wonu has just graduated from Coquitlam College. His sister Liz has offered him full-time job, at $20,000 per year, at her computer lab. J’wonu, however, has his heart set on going to Simon Fraser University for four years to get a degree in engineering, and unfortunately, his sister can’t use him on part-time basis. Tuition and books for four years will cost J’wonu $14,000. What is J’wonu’s opportunity cost of getting a degree?

Question 2.

The following activities took place in a land of midnight sun last year


ITEM






$


Wages paid to labour




 800,000

Consumer expenditure




 650,000

Taxes paid by households



 
200,000

Transfer payments


   

   50,000

Total profits made by firms



 200,000

Profits retained by firms




   50,000

Investment spending




 250,000

Interest earned by households



 100,000

Rent received by households

   

   40,000

Taxes paid by firms


   

   50,000

Government purchases of goods and services

 200,000

Exports of goods and services 



 250,000

Imports of goods and services



 160,000

Depreciation





   50,000


Calculate:

GDP at market prices. Which approach to measuring GDP did you use?

GDP at factor cost. Which approach to measuring GDP did you use?

Did you get the same answer for (a) and (b)? If not what is the difference?

Saving

The government’s budget deficit

Indirect taxes less subsidies

Personal income

Personal disposable income

Leakages and injections. Are they equal?

Question 3.

You are given the following information about the economy of the land of midnight sun:

The AD curve is Yd = 600 – 50P.

The SAS curve is Ys = 50P.

The LAS curve is Ys = 300.

What is the equilibrium real GDP and the price level? How will you describe this macroeconomic equilibrium? 

Technological advances increase aggregate supply by 30 units. What is the change in real GDP and the price level ? How will you describe this macroeconomic equilibrium?

Beginning with the original aggregate supply and aggregate demand  curves, what is the change in the real GDP and the price level if aggregate demand increases by 60 units? How would you describe this macroeconomic equilibrium?

An increase in wages lowers the short-run aggregate supply curve by 10 units. What is the change in real GDP and the price level? How would you describe this macroeconomic equilibrium?

Question 4.

Explain how each of the following factors will affect aggregate demand and short- and long run aggregate supply in Canada, and what effect this will have on the price and real GDP levels:

An increase in government spending.

An increase in labour productivity.

A decline in the real GDP of the United States.

An increase in the money supply.

A big rise in nominal wage rates.

A big cut in the price of imported oil.

Question 5.

Mention the four tools of monetary policy of Bank of Canada (Central Bank). Explain how each of the tools can be used to effect: (Hint: start with a definition)

a)  An expansionary monetary policy      

b)  A contractionary monetary policy      


FINAL EXAM. Summer semester – 2000 
Part I. (20 points) Answer all the questions

Question 1.

An economy has the following information

Rate of interest


Total Money Demand


Investment


    10%




$200



     $10

      9




250



       15

      8




300



       20

      7




350



       25

      6




400



       30


a) Assuming the money supply is $300 and the transaction demand does not vary with income

    levels, what is the equilibrium interest rate?

b) Given your answer to a), what will be the level of investment in the economy?  

We also have the savings data for this country

GDP


Savings


$600


$10

    20


  30

750


  40           


c) Assuming the country has a closed economy. What is the definition of a closed economy? What will be the level of equilibrium GDP?              

d) If the money supply decreases to $200, what will be the new equilibrium interest rate and GDP?

e)  Assume that the full-employment level of GDP in that country is $799. What supply of money is necessary to achieve this?


Question 2. 

Use the following information to answer the questions below

Labour-force population




500

Number of people in full-time employment


160

Number of people in part-time employment

  
  65

Number of people unemployed



  25

Number of discouraged workers



  15

CPI






140


a) What is the unemployment rate?

b) What is the participation rate?

c) How much inflation has occurred since the base year?


Question 3. 

The long run aggregate supply for a particular country is $1500. The aggregate demand and short-run aggregate supply schedules are shown below:

Price Index

Aggregate Demand

Aggregate Supply

$85


1750



1180

  90


1700



1200

  95


1650



1240

100


1600



1300

105


1550



1380

110


1500



1500

115


1450



1630

120


1400



1800

a) What are the equilibrium values of price and real GDP? What type of equilibrium is this?

b) Assume that an increase in productivity increases aggregate supply by $300. What will be the new equilibrium values of price and real GDP? Is there now a recessionary or inflationary gap? How much is the gap?

c) Describe how you will use d) fiscal policy, and e) monetary policy to remove the gap.


Question 4.

a) If a monopoly bank has a target reserve ratio of 10 percent and it is holding $2000 in excess 

reserves by how much can it increase its loans? What is your answer if the target reserve ratio is 1

percent?

b) Which of the following factors will lead to an increase or decrease in aggregate demand (and a 

shift in the AD curve)?

A) 

A decrease in stock market prices

B) 

An increase in price level

C)
 
An increase in real GDP

D)

An increase in interest rates

E) 

A decrease in government spending

F) 

An increase in foreign incomes


Question 5. 

You are given the following information about an economy:

The AD curve is Yd = 600 – 50P.

The SAS curve is Ys = 50P.

The LAS curve is Ys = 300.

What is the equilibrium real GDP and the price level? Is it inflationary or recessionary or full employment equilibrium? Give one reason for your answer. 

Technological advances increase aggregate supply by 30 units. What is the change in real GDP and the price level? How will you describe this macroeconomic equilibrium?

Beginning with the original aggregate supply and aggregate demand curves, what is the change in the real GDP and the price level if aggregate demand increases by 60 units? How would you describe this macroeconomic equilibrium?

An increase in wages lowers the short-run aggregate supply curve by 10 units. What is the change in real GDP and the price level? How would you describe this macroeconomic equilibrium?
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